Apartment in Mosta



Mosta, Central



€345,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): 143

Reference No: 240151131-3

P☐ Bedrooms: 3

Apartment - For Sale - Mosta

Spacious and lovely 3 bedroom apartment located in Mosta, being tucked away in a very good area ,close to all amenities. Includes a Maltese balcony and two terraces. Property is being being offered in Shell form state. Completion date December 2025. Block of 12 units is served with lift and its Freehold. Optional garages available at an extra cost. Contact an agent for a viewing! Completion date is December 2025.

Features

Terrace

Balcony

Rooms

Double Bedroom: 3.27 x 3.81 m (12.46 m2)

Double Bedroom: 6.06 x 3.11 m (18.85 m2)

✓ Single Bedroom : 1.72 x 2.96 m (5.09 m2)

✓ Bathroom : 2.77 x 1.26 m (3.49 m2)

✓ Box Room : 3 x 1.26 m (3.78 m2)

Kitchen/Living/Dining: 9.76 x 3.22 m (31.43 m2)

Open Space : 2 x 2.94 m (5.88 m2)

Open Space : 3 x 6.59 m (19.77 m2)

Gallery







Nicole Cauchi RE/MAX Edge - Attard

M: 99396620

E: ncauchi@remax.com.mt

T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta